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Paper - 11 :  General English

Time : 21/2 hours                             PART_ A  (40 Marks)

Code No. 2503

FACULTIESOFARl-S,COMMERCE,SCIENCE,MANAGEMENT
AND SOCIAL SCIENCES

B.A./B.Sc/B.Com./B.B.A./B.S.W.(Regula9ll-YearExamination,March/Apth2016
Subject  :   ENGLISH

Max. Marks : 75

5 x 4 = 20

iri,  focusing

1  x5=5

on what he learned from therri.
ExplalntheimportanceofinterpersonalskiHsinawa[,r;y^?;:
Write a character sketch of 'Jncle Podger.
Howdoesfatherwilliamreacttohisson'scritici?ti,FS?

AnsweranyFourofthefoilowinginabout100words
1     Brin and page are inspirational role models.   Di,scuss.
2    Discuss  in  detail  Kalam's  experiences with  JallauddH

uA)Readthefollowinglinesa.Td.ar:iw_e:rj`f?:q.zg::ti°f:::s8:Vnednt::I:eT

;;§ias:t,#eiiiiit::;i:e;;:;°d:i;5t::;i:;#;i=r::i;:yy:B:£ii::[e;}t3C:pr?;S;:ih:';ti'i:dji;n:::r::pe:ai:t;0:aia;Vi:a:rtti:e:r
authoritieshaverequestedadg,i"t}g4|as:`La^mn:n:€Tne:tnstht°efhuec:tuerrt:,:tadj:?£::'i:#T::

its  moae
opment.
situation

a['I,I,\+ ,,,-.. `_    __

hope is to both educate the average Indians on
iodernize  the  city's  garbage  collection  to  cope•-.,        __.__I,    :f   -rl-:c>114C    LIL,    \J,,J   -J_.._  _   +,

Of course,  all  this will  only work  if  one  is
and   is   keen   on   helping   maintain   their

an attempt to better the sy
the  dangers  of  litte.ring,,sisa
with  the-city's  rapid
aware   of  the   danffys?{9:

_    _  __L

Fg:{j;t;i:%jj:p¥afi:a:ndtFj:e:n,;t:e:,:s:t:::I:;ns:ed+s,posa,system,

'   environment.

®__           ___

w#j:;gil::§jti:i:;::s:e:p:;aro:rt:e;#n:d;::

_ '1 _.  .

But,  in going down an alley
`.*ifiiseEN

To a castle in the valley,
They completely lost their way,
And wandered all the day
Till, to see them safely back,
They paid a Ducky-quack,

eYr°ifes:use
And-a Beetle, and a
Who took them to th

answerthequestionsgiven below:      1  x5=5

From where have the above lines been taken from?
Who lost their way?
Where are the speakers now?
Whydidtheyhavetopaytheduck,the'oeetleandthemouse?
Write the meaning of `wander'. ..2
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11!   Answer any Two of the following in about 100 words each.

Code No. 2503

5x2=10
1     What are the qualities needed for a good and motivational  leader?   Discuss.
2    Why is change an essential quality needed to cope in the present life?

Elaborate.
3    What is Assertive Communication?   Cite an example from your life situation as to

how you tackled a problem.
4    What are the mannerisms that one should foliow while dinningfysin the public?

•   PART-B   (15Marks)
lv  Mark stress on the following words :

1     Examination
2     F3elieve
3     Politics
4    Agree
5    Produce

V   Mark stress on the following words
1      D6j.avu
2     Ennui
3    Afjcionado
4    Kindergarten
5      Hoi.polloi

VI  Convert the following

2    T,Yk: [i:hre::nstcoor`F8t:`i-i,o
;S€i;:`Pt3£`:Sc:#:rt:tFot:?Lnder|inethenounphrase).
ch have a happy ending (under the adjective clause)
I-L   _     I   _   ,,,.,.,..

1x5=5

1x5=5

1x5=5

the latest bike t.hat has come  in the niarket"? (C-o-n-+;rf to

st you should fall (Convert to compound sentence).
jn this group is as jntelljgent as Mr.  Gupta  (change to superlative

PART -C  (20 Marks)__--         -\-v  l"`^"``-I
VII AnsweranyTwo of the following questions :                                                           5 x 2 = 10

1     Write  a  feasibllify  report  to  the  principal  of your  college  onorganizing  placement
classes for your college students..

2    Write the format used forwrjting scientific papers.
3    Write a review on any famous novel that you have read.
4    Write   an   article   on   the   issues   of  the   current   garbage   disposal   system   in

Telangana.

VHI AnsweranyTwo of the following questions :                                                          5 x 2 = 10
1     Write  a  letter to  the  editor of a  local  newspaper complajnjng  about bad  roads  jn

you  loca,ity.
2    Write a blog about the cultural test that was organized in your coHege.
3    Write an autobiography recounting your childhood memories
4    Write a short story in about 200 words. with a first person point-of-view.

******
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Faculties of Arts, Commerce,

Code: 10286

& Social Science

BA,B.Com,BBA,BSc,BSW11Year111SemesterExaminationDecember2017
Subject: General English

Paper - lil

Time : 3 Hours
PART - A (5 x 4 = 20 Marks)

Answer any FIVE of the following.

1.   Ansvyer as directed.
a-jihis  is  not  an, exhLa±±s±!!±e  list  of  antonym

word).
b)  When  the  army  a±±£an££s,   the  enemy

un'derlined word).
H`6 ca.me _ the room.(Fiii in the  b!ankQ

+-i;i; 6ldthi€iFrerior than that. (Correct

2.   Answer as directed.
a)   I ha\Je to stop on the way flu my c

English word with a British worq).
b)    lntheuK,youwear

appropriate_word in Am#
6)   Ah application for the n

with "She  ...).
d)  The studentwro

interesting story
3.   Ans.iver as directed

REtehr:)a)   My.b.oss

b)  She

ne

yin

lvlax. Marks: 80

of  the  iinder!ined

(Give  the  antonym   of  the

ithgivsuitab{epreposition).
tence).

(Replace the underlined America`n

.  (Fill  in the blank within the US, you wear

: seht by her. (Rewrite the sentence beginning

story. (Rewrite the sentence beginning with "An
(`

meeting because of heavy rain   (Correr+ the particle in the
lllaoal  Y,I~/.,

off her  father.   Both   love   to   read   books.(Correct  the   particle   in   the
hrasal verb).

of those books
b given in brackets.)

d)   Here is my car keys.

4®   Answer as directed.

(is/are) a classic.  (Fill in the blank with corrert form     of

(Correct the verb form).

The idiom "to see red" means
The idiom ''no bed of roses" means
~ (Although/ln spite of) we started
appropriate c6nn.ective.)

an app-ropriate connective.)
5.   An;wer as directed.

a)  To  'hammer  out  a  deal'  is  to
appropriate option).

late, we still arrived in time. (Choosethe

+^rp,\ -r` `_``.   `.-` `--_

d)   lt's very hot. Turn on th; air conditiolier.  (Combine the two sentences into one  using

(  reach/come  across)  a  deal.  (Choose  the

(yellow
_rr`  _(-'  '___  _         ,

b)  The   term   used   {o   describe   sensational   news   reporting   is
journalism/ trial balloons.)(Choose the appropriate option).



i/,

Code:  1(
-2-

c)   They wanted to know what was my name? (Correct the sentence),
d)   My sister said, "I don't like sugar in my coffee." (Change into reported speech).

6.   Answer the following:

_.  --_  -`.--_   .`-r\,  '
What  was  the  'mistake'  of  th6  aerial  messenger  in  the  story
\^/^rl,^`r^'  r3-.~-J=^_''^

"0whylamentitsfall?"Whosefal!i§Brontereferringtointhepoem"Life"?

According to Bronte's "Life", why should we not lose hope?
\^,L~-(   -... __     LL_      '=_    .,,.,.,-.

"A.Wrong  Ma

taking  home

peaker cajled  a  pet,.I

in  Kindergarten"?

Worke.rs'  Paradisct'?                                                      --`` ---...   `..
d)   !n  "A Wrong  Man  in Workers'  Paradise," what did the gi

n,-:r ,,-. I..:I._I .--- _^.    painted pitcher?
7.   Ahswer the following:

a.)   !n  the  poem  "Punishment  in  Kiridergarten",  why
•girj?

b}   Vvho was the "blueTfrcick6d woman" in the poe`m `
c)   According to R,K.  Narayan, which coimtry
d)   Who, according to R'.K:` Narayan,  has USS

8.   Answer the'following
ln, :'As I Gr.ew older", wh.at does
What made Hughes forget his d
What, according to Ambedkar, is
What according  to Ambed
Indian society?

Answer the foliowjng in

9. a.  Explain the attitud

as g#Bn up formalism in the-use of
lish so far in  india?

re h.js dream to?

the "two things" that are completely absent  in

8 (5 x 12 = 60 Marks)
worcls each.

at Charlotte Bronte recommends in the poem "Life"
OR

b. DiscussATagor£SS use of irony in "A Wrong Man in Workers' Paradise"

10. a. Wha

11.a.  a

e consider it a punishment?
punishment given to the girl jn "Punishment in  Kinclergarten"?

_      .         ,      '       .           .,

OR
d when, according to Narayan,,will,a Bharat brand of English emerge in  lnc
I,1t_-___I.__I   =J_  ._ .  _J  1,_   _the central idea of the poem `n'As i.`Grew older"

OR
b. What,  according to .Dr. Ambedkar,  are the `.three things that  India  must do  in orde

remain a democracy?
12. a. Write a discursive essay on "True Frienclship".

'OR

b. Write an argumentative essay on the topic "Advertlsements benefit the  manufactu

not the customer".

13. a. Write a progress report on your collection of data about school dropouts in the
colonies around your college.

OR
b. Write a media report on: Students take out a rally in support of boycottihg boycotts

*******
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Code No. 228 / E

FACULTIES OF ARTS AND SCIENCE
a.A./B,Sc,I-Semester(CBCS)Examination,December2016

Subject : Mathematics

Time : 3 llours

Paper - I : Differential Calculus

PART - A (5 x 4 = 20 Marks)
(ShortAnswerType)

Note:AnsweranyFIVEofthefollowingquestions.

4/Expandf(x)=log(1+sinx)byusingMaclaurin'stheorem,

2FindthecvalueOfRolle'smeanvaluetheoremforthe

(x) - 10 on [a, b].

3     Evaluate  l*i+ng(cotx)§mx.

4    Find the radius of curvature of the-a.         L  I.  _   _
L           x  =acos3t,  y=bsin3t  att=tt/4.
•1         I    111\+   ,,,_   ._'_'_

5    lfz=log(u2+v),  %=e"',v=

6    lf "=r¢"-I

2 then  evaluate

Max. Marks: 80

totesofthecurvex2y2-x2y-xy2+x+y+1=0,whichareparallelto

of the curve.
my + m2 x - 10 = 0 where in is a parameter.

PART -a (4 x 15 = 60 Marks)
(EssayAnswerType)

Note: Answer ALL the questions.

9(a)((I::)yF,:2;hn°::c{::e%:::tnis#:n#n?n#:#:0::he::esexpans|onoff(x)=excosx

OR

~arwStateandproveCauchy'smeanvaluetheorem.Hencefind`c'valueof
Cauchy'smeanvaluetheoremforthefunctionf(x)=ex,g(x)=e.Xon[a,b].

..2



•.2..
Code No. 228 / E

10 (a) (i)   Find the curvature, the radius of curvature and the centre of the circle Of
curvature and the circle of curvature for the curve x2 = 4ay at P(2a, a).

(ij)  Find the evolute of the parabola y2 = 4ax.
OR

(1+*)%-e+¥
(b) (i)   Evaluate   lim

Jfio                   j¥ 2

(ii)  Find the value of a and b so that
x(I+crcos#)-bsin#

=1

11  (a) (i)   lf  /¢,y) #2 +J,2 (x,J,)I(0,0)

0           ,         (x,J,)=(0,0)

thenshowthat/xy(0.0)±/ys(0.0)'

(ii)  |f af = log(x3 + y3 + z3 -3ryz)   then s

(b) (i)   State and prove Euler's theore
(jj)  Explain  /a,j;) = ;¥2,, +3

12  (a) (i)   Find the minimum v

where a > 0.
(ii)  Discuss the

f(x,y)--

-2   jnterms

-....:

t±+±+±=
ax     dy     az     #+j;+z

homogeneous function.
x+I,y-2    as a Taylorserjes.

+ j;2 + z2   subject to the condition  xpz = cr3

and minimum values of

Xy
.  ..` .

mptoptes of the curve.
OR

:#2,,_ry2_2,,3+xp_,,2_i=0

*****



©

®

®

®B

©

®

(.:``

:-'.,

tr.?)

®

®`

©

®

®

@.

®
ca

Code No. 2017 / E/

FACULTIESOE`fiRTS'ANDSCIENCE

B.A./B,Sco1-YearExamination,March/Apr"2016
Subject : RAATuEREATICS

paper_I:DifferentialEquationsandS°]]dGe°metFyRAax.RAarks:"

N°tech:::,#;ra:';Xe;s:€;::'::r:of#°:aac:ft:83:A:€;:FEE:°c(j#:gm#::jfi;:#:nfrp°amrf.PAag::r.es
Time : 3 hours

Part-A(6X6--36Marks)

unit -i

1    Solve sec2yg+2xtany=x3.

2    Fin.d the orthogonai trajectories

unit -11

3    Solve  y''+3y'+2y=|2ex

4    Solve  (D2-3D+2)y=3sin2x.

unit -Ill
5    Findtheequa

1;-1)  and  (1,1,  -1).

hel'.lane

ofthefamilyofrectangul
ar#€is#sy=ci/x

ssesthroughthepoints(-1,1,1),

\'

pointwherethe¢*}nenging(2,-3|H3,4,-5)cutstheplane

econewhosevertexisattheoriginandthedirectioncosines1       r\

------------ ®

€3,?

®

®
®

®

®

®

®

®

®

®
.tia

6    |=indthe
7,            `ffa..fa~ng

)I  |' ]t=  uV, I ,,,,.- _ _

rsSatisfytherelation3€2-4n2+5n2=o

y + Z --

unit -lv
7    Findthee

of whose g iiJ,
\,11\, ,-_  _    \,         *l-r-

8Findtheequationofthecylinderwhosegeneratorsareparalleltotheline
¥=1=Zandwhoseguidingcurveistheellipse£+2y2±`1,z=0.
1-23

Part-a(4X16--64Marks)
':ro%#t;;f:txLn:te{:::tr#£±;#u:ftt::i:ehx::ntod:g::eonut:a::§U#+nNMyd;+oNdy=O

E#Rj::n,:£e+T2et+h2£,odfxs:,v2;gdyc±a.gaut,sequat]ony=pxritp,;;  :'6tj-; - ,x2 + y2 +

Unit -
9a)

b)

10a)
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Code No. 2017 / E
-2-

Unit -
lla)

11

Expla`lnthemethodofsoMngsecondorderCauchyEulerequatic>n

a2x2¥+aLx¥+aoy=Q(x)whereao,aianda2areconstantswhichare

non-zero.
b)   Solve  (D2 -3D+2)y = xe2X +sinx .

12a)
b)

Solve (D2 + 4D+4) y = 4x2  +  6ex by undetermined coefficients.
Applymet,hodofvariationofparameteistosolve(D2-2D)y=exsinx.

Unit .lil
13  a)   A variable plane is at a  constant ciistance 3p from +.he origin

inA,B_and_C.S^howthattheiocusofthecentro.Idofthetrdrag
i--2` i y-2 +z-2 = p-2

b)   Find the shortest distance between the lines

±=Z±=3±and.¥==¥=¥   zj`_      or§
34`

-=_-

233

14 a)   Find the equation of the sphere which
1,2,0)  and  (1,2,3)

b)   F'ind 'the equation of the sphere wnici
x2 +y2 +z2 = 5, x+2y+3z =3  and

eets the axes
Gis

the points (0,0,0),  (0,1,-1),  (-

the circle

plane 4x + 3y =  15.

i ------          _     ¥5n[:`u¥rovethat2rf+2f+7Z-HRE+ex+2y+26zhl7=o representsacone"th

8yz  +  3zx -  5]gr  =  o{6giv

16  a)   Find the eflua#LO

x-1

of  intersection  of  4x Hy-5z =,0  and

f the cylinder whose generators touch the sphere
..          x        V        Z

and are parallel to the line ? = i = I

ion of the right circular cylinder of radius 3 and whose axis is

.y±_±`thelineT=L-=|
2

******



FACULTJESOFARTSANDSCIENCECode No. 5027 / E

B.A./B.Sc.in-YearExamjnatjo„March/Apr«2015

Subject : STATISTICS    (Theory)

Paper - llj

Time : 3 hours
Applied Statistics

N°te.'ffonmsweearcha]a]nqdu=Snt#t:==eAffnsmwe„r..q^u^=_t!0\n,SI.t.PIvbycha
fromeachakarak;ii-irf;.jae!f!r;iie^qr_:q?u?;fo;:off lt,i::ebsyticohnas

marks.Scientificc\:i:-ui.tit.;r=.a::'a:]uoews:[d°.ns>.<

1    Whatjs a sample survey?  Discuss briefly the basjcp
Survey.

2    Derive the variances of sample mean jn case of s
compare and comment.

3    Describe the procedure of stratified ra
h^/A   ;f\   -,-... _I_.                -

I              _  __I-``l   \JLlaLIIlt=|
two js an unbjased estimator of the

'
State tlie variance of

4    Prove thatsyste
the sample are

d estimator.

Max. Marks :  100

choosing any two
equal

R and SRSWR,

RE
mpljng.   Which of the following
mean.

pljngwjllyje`dbetterresu'tsonlyjftheunjtswjthjn
!OuS.

m8aningof`Analysisofvariance'technique.Stateassumptions
:ions of jt.

egiventypeofdesignanddescribetheanalysisapproprjateforthis

ABc
DC8A

EDC A 8
ED A

ED
8 C E

7Deriveanexpressi.ontomeasuretheefflciencyofRBDrelativetoCRD.

8=nxLP§Irdfsacs#Cs§.r'nc.Iplesofexperlmentatlon.;owfo:t-he=::Vr|`n:==e==:emet
jn LSD djscuss.

..2



Code No. 5027 / E

-2-

1119     Define a time series.   Explain brieflythe components oftjme series.

10  Explain functions and organization of NSSO.

11  What is an index number.   S.T.  Fisher's index number js an ideal index
number.

12  Fit a logistic curve  ); = K
1 + ea+b'

by the method of three

IV   13  a)   Explain price and income elasticities of demand

b):I:d2t5hoe_e8:lil:r::msupprbc[;::#usa:t'iy2e+X2P£

14  a)   Define a life table,  complete life

b)   Fjl! the blanks in the following in

j4gex:       4x        dx     px       fr

30   ..7Cf 22:2]      -          -

31    :  753580

15  Define the term vit
statistics.                    &esL

r the demand curve

4gr
abridged life table.

Txe:
I     27296632   -

mx

.   Describe the methods of collection of vital

16  Explain Pigou's metffo: d for time series data.

V:?'feija%:%£i:in:#:S:eTsei:::q:uyeett:h:rn:::;thefo"°W'ng

19  Cost of living index number

20  CSO a,rid its functjonaljties

21  Death and birth rates

******


